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Question Number : 1 Question Id : 2549896252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
feadi®ml FEyHFRIAISEre]
Options :

1. ¢ 3=

2. % e

3. % dc

4. % IcsY

Question Number : 1 Question Id : 2549896252 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choices are also referred to as
Options :

1. ¥ options

2. % exit

3. * boot

4. % folder

Question Number : 2 Question Id : 2549896381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%s;xcewanj?ﬁ% [, G O, U S T & RIS SR 9 ard 9 & gy, g forg o AT 31T fobam 7 g1, g FAfdy
NIGI

Options :

1. % 3reffavm ()



Question Number : 2 Question Id : 2549896381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Excel formulas, an adjacent range is specified by giving the starting and ending cell addresses separated by a symbol.
Options :

1. # semicolon (;)

2. % comma (,)

3. % full stop (.)

4. % colon ()

Question Number : 3 Question Id : 2549896861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Data stored in is either modified with extreme difficulty or not at all.

Options :

1. ® SRAM

2. % DRAM

3. ®* cache memory
4. ¥ ROM

Question Number : 3 Question Id : 2549896861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T IUBId ST H A1 <Y e BidHTs & 1Y SCard (T Sl abd a1 oo d e (o1 off Fabd |
Options :
1. # SRAM
2. % DRAM
3. % oy HART

4. % ROM

Question Number : 4 Question Id : 2549896884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A port is a socket for external devices to connect to the

Options :

1. % keyboard

2. % mouse

3. % computer

4. % headphone

Question Number : 4 Question Id : 2549896884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TH UIC a1eY] fSargad &t T Sire & fore us gibe B

Options :

1. % Plars
2. % HI3Y

3. ¢ DR
4. % gSHHA

Question Number : 5 Question Id : 2549897057 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HCR ST YR HR & foTg ford HINT BT STINT & g2
Options :

1. % Eﬁ(Ternary)

2. % FR-Aqd il

3. ¥ SR

4. % yfafferaardt (Rusidra)

Question Number : S Question Id : 2549897057 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Computers use which language to process data?
Options :

1. # Ternary

2. % High-level language

3. ¥ Binary

4. % Representational

Question Number : 6 Question Id : 2549897888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

STUACH RAFB T R Telio! SR UiReul &7 T Rl g |
Options :

1. ¢ e

2. % fgeum

3. % U A

4. % IR UTH

Question Number : 6 Question Id : 2549897888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

A uses picture symbols or icons to represent data sets.
Options :

1. ¥ pictograph

2. % histogram

3. % pie chart

4. ® bar graph

Question Number : 7 Question Id : 2549898394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which function returns the inverse hyperbolic cosine of a number in MS Excel?



Options :

1. % HCOS function

2. % HINVCOS function
3. % INVCOS function
4. ¥ ACOSH function

Question Number : 7 Question Id : 2549898394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

MS Excel H & 1 e Ueb U1 b1 R gISURENTD BIIg Sl 82
Options :

1. # HCOS R

2. % HINVCOS R

3. % INVCOS R

4. ¥ ACOSH R

Question Number : 8 Question Id : 2549898693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which device is used to convert real-world property e.g. temperature into data that computer can process?
Options :

1. ¥ Sensors

2. % Scanner

3. % MICR

4. % OMR

Question Number : 8 Question Id : 2549898693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WW@W@WW%W%@WMquq\ulmwldl?{,@@r% aqEH P el H, o Her TR &R
Hhdl 6?2
Options :




. ¢ AW
2. % W
3. % MICR
4. % OMR

Question Number : 9 Question Id : 2549898696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

U 3ifd I Ifd gt e Wfa 8 S cpuU 1 I ¢ Wb B
Options :

1. ¥ SR O

2. % &y Ty

3. % iRgd TRy

4. % a3 AR

Question Number : 9 Question Id : 2549898696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is very high speed semiconductor memory which can speed up the CPU.
Options :
1. ¥ Cache memory
2. % Direct Access

3. % Serial Access

4. % Virtual memory

Question Number : 10 Question Id : 2549899180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
O 3T AT < HRd & df U O DI 3701 A18a 30 foaM & oy 319 drger R H1-11 fSargy Rifid &R T g2
Options :

1. # fiex




2. % TR
3. % HISHIBI
4. ¢ I9 HH

Question Number : 10 Question Id : 2549899180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which device can you install on your computer in order to allow a friend to view your live image while you chat online?
Options :

1. * Printer

2. % Scanner

3. % Microphone

4. % Web cam

Question Number : 11 Question Id : 2549899328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TP Blelgafaed WhR ol S1eT TRRIT & N IR S5y Uedl § 98 & U H A A&
Options :

4. % 9 fled ¢iffRer O1fAeR (TFT)

Question Number : 11 Question Id : 2549899328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A photoelectric scanner that reads bar codes for data processing is known as:
Options :

1. # dot pitch

2. % platform scanner



3. % bar code reader

4. % thin film transistor monitor (TFT)

Question Number : 12 Question Id : 25498929722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following has the capability to store data in extremely high densities?
Options :

1. # Register

2. # Capacitor

3. ¥ Semiconductor Memory

4. % Inductor

Question Number : 12 Question Id : 25498929722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFfIfEd & ¥ 9T SUHU I I HSRUT SUHR 82
Options :

1. % IoReR

2. % JuiA

3. ¢ Qi eac AR

4. ® SRR

Question Number : 13 Question Id : 25498929886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the output of the following MS-Excel Formula?

=SUMPRODUCT ({12,12}, {1,1})
Options :

1. ¥ 24

2. % 26



3. % 1313
4. % 145

Question Number : 13 Question Id : 25498929886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fAGfeIfad MS-Excel BIHeT BT 3T3CYC 182

=SUMPRODUCT ({12,12}, {1,1})
Options :

1.9 24

2. % 26

3. % 1313

4. % 145

Question Number : 14 Question Id : 25498933089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o & 1< ST R T Y A13R) THd TeT B 82

(128)16=(_7_ 1
Options :

1. # 10010100

2. % 100101001

3. % 100101010
4.4 100101000

Question Number : 14 Question Id : 25498933089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the Binary equivalent of given Hexadecimal number?

(128)16=(_7_ )



Options :

1. # 10010100
2. % 100101001
3. % 100101010
4.+ 100101000

Question Number : 15 Question Id : 25498934233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ffafed & 3 fordeT Ta WS &1 A= &I UgaM &+ & forg e ST g2
Options :

1. # digc

2. Ud

3. % Qsq

4. % RpIS

Question Number : 15 Question Id : 25498934233 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is used to identify a storage location
Options :
1. % A byte
2. % An address
3. % A word

4. % A record

Question Number : 16 Question Id : 2549898157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following error messages is displayed when you do not have appropriate access rights while working with files and folders in
Windows?

Options :



1. ®# Don’t enter
2. * Wrong access
3. % Access denied

4. % Invalid access

Question Number : 16 Question Id : 2549898157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S 30 U fdSiel O wrgal sﬁwﬂﬁﬁwmmwaﬂgaﬂm 3IYDR (access rights) ﬁ%%ﬁ%ﬁﬁﬁ-@ﬁ%m
TaRid gidT

Options :

1. * Don’t enter

2. * Wrong access

3. % Access denied

4. * Invalid access

Question Number : 17 Question Id : 2549898217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A user may a server's security measures by finding an alternate path of gaining access to the server.
Options :

1. ¥ bypass

2. % corrupt

3. % crash

4. % scan

Question Number : 17 Question Id : 2549898217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
D5 GoR ok BT TR UTE B BT ddbiedd AN gadh Tax & Y& IUTl BI R IHA g |

Options :

1. ¢ SIsUN




2. % PP
3. % By
4. % IH

Question Number : 18 Question Id : 2549899608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following printers emits droplets of ink which are electrically charged?
Options :

1. % LaserJet

2. % Inkjet

3. % Dot matrix

4. % Chain

Question Number : 18 Question Id : 2549899608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D91 fliex e &1 BICT Yol BT IToid Bl g Sl [dggd AR glehl 82
Options :

1. % oRvIC

2. ¥ SHole

3. % gic Afea

4. % 939

Question Number : 19 Question Id : 25498910775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following components allows you to print on both sides of a paper?
Options :

1. * Fuser

2. % Toner



3. % Duplexer
4. % Duplicator

Question Number : 19 Question Id : 25498910775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e # ¥ H19-91 gew, 3MUH! TR & G R fiie a1 &1 gfaer ar g?
Options :

1. % TR

2. % AR

3. ¥ GRIRR

4. % Zfdhex

Question Number : 20 Question Id : 25498911214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following options best describes the instructions that Computer Hardware needs to perform a task?
Options :

1. % data

2. ¥ software

3. % liveware

4. # skinware

Question Number : 20 Question Id : 25498911214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafeiad & § ®1F-31 fadhed 39 SR (instructions) T T 35T GUH BT § Ol DR TSAIR Bl B B & (A4 AAD g2
Options :

1. % Sl

2. ¢ AGEdR

3. % ARZIIW




4. % RPIIW

Question Number : 21 Question Id : 25498913424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a general scheme for lossy image compression.
Options :
1. # Non-uniform coding
2. % Uniform coding
3. % Transform coding

4. % Uniform decoding

Question Number : 21 Question Id : 25498913424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A AN HEIRHE (lossy image compression) & o U I Ao gl
Options :
1. % 99 g HIfET
2. % B DI
3. ¢ TRABIH HIFST
4. % gHBH fEHITST

Question Number : 22 Question Id : 25498918474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following devices is considered as both, an input device as well as an output device?
Options :

1. ¥ USB drive

2. % Plotter

3. # Keyboard

4. % Printer



Question Number : 22 Question Id : 25498918474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafea # 9 ford feargy &) 3qe fSarza & -1y sideye fgarsy, g1 & =0 § [T il 82
Options :

1. ¥ USB $3d

2. % WX

3. % Plas

4. % fiiex

Question Number : 23 Question Id : 25498918555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following operating systems was developed first?
Options :

1. ¥ MS-DOS

2. % GMOS

3. % MS-Windows

4. % DEC PDP-1

Question Number : 23 Question Id : 25498918555 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Frafafed & 3 SH-H SR Ren 9a¥ ugd [Aeia o1 78 o
Options :

1. # MS-DOS

2. ¥ GMOS

3. * MS-Windows

4. = DEC PDP-1



Question Number : 24 Question Id : 25498919280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Port 80 is the port number assigned to which commonly used internet communication protocol?
Options :

1. # FTP - data

2. % FTP - control

3. #* SNMP

4. % HTTP

Question Number : 24 Question Id : 25498919280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T1¢ 80 T U TR 8 T HIH-Y MHAR TR SWHTA fbT ST aTd Se3-ic TR Welbid b Aid T8 82
Options :

1. % FTP — SCI (FTP - data)

2. % FTP — fAGAUI (FTP - control)

3. % SNMP

4. ¢ HTTP

Question Number : 25 Question Id : 25498919319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a type of GUI used on mobile phones?
Options :

1. ¥ Android OS

2. % Mac OS

3. # Ubuntu unity

4. % GNOME shell

Question Number : 25 Question Id : 25498919319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

TS STSYR TR SWHT fbU §M a1l GUI T UhR HIH-91 82
Options :

1. ¢ USITS 3M.TY. (Android OS)

2. % O 3M.TY. (Mac OS)

3. % Jeg gHct

4. % GNOME Xd

Question Number : 26 Question Id : 25498919371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Putting a CPU, ROM, RAM and data input/output circuitry into a single Integrated Circuit will make a
Options :

1. # dashboard

2. ¥ single-chip microprocessor

3. ¥ megaprocessor

4. % multi-chip microprocessor

Question Number : 26 Question Id : 25498919371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

CPU, ROM, RAM 3IR ST $1Ye/3MM3cYe Afdhext dI U UbIgd Hidhe (Integrated Circuit) T ST 9 & ST
Options :

1. % SXES

2. ¢ RTQ-fY A ehIueR

3. % HIMYRRR

4. % Fe]-FaY AIEHIUEER

Question Number : 27 Question Id : 25498920707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The IPV4 IP address range of Class A is from 1.0.0.1 to
Options :

1. % 126.255.255.254

2. % 191.255.255.254

3. % 223.255.254.254

4, % 239.255.255.254

Question Number : 27 Question Id : 25498920707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AT A D1 IPV4 [P TS 397 1.0.0.1 9 I% gl
Options :

1. ¥ 126.255.255.254

2. % 191.255.255.254

3. % 223.255.254.254

4, % 239.255.255.254

Question Number : 28 Question Id : 25498922680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the quick and easy way to stop or kill non-responsive processes in Windows 8?
Options :

1. # Click process name in the Task Manager of taskbar and select 'Close'.

2. % Click process name in the Task Manager of taskbar and select 'Abondon'.

3. # Click process name in the Task Manager of taskbar and select "Kill'.

4. % Click process name in the Task Manager of taskbar and select 'End task'.

Question Number : 28 Question Id : 25498922680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

CEGEX:] ﬁ?—\’fﬂw (non-responsive) TR @1 b+ T IE, (kill) P BT ARd 3R 3T IR & 82

Options :



1. % TROHIR & TR H-oR H TR 71 IR fdad B 3R 'Close' T |

2. % TRPHER & TRB TAoR T TR 71 W fade &3 3R 'Abondon' T |
3. % TRHAR & TR TR H TR 70 | fFaa &9 3R Kill' I |

4. ¢ TRHER & TR TR B TR 7 W fFad HY 3R 'End task' T |

Question Number : 29 Question Id : 25498924438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To increase the response time and throughput of a system, the kernel minimises the frequency of disk access by keeping a pool of internal data
buffer called:

Options :

1. ¥ buffer cache
2. % dispatcher
3. % pooler

4. % swapper

Question Number : 29 Question Id : 25498924438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ren & 3fohar Iud 3R ST &I 9 & Y, Hd 3e-d Sl IHR & Yo HI 9118 39d g [ TR & 3gh (Thes=) &1
FY Il g, 39 CaASIGI

Options :

1. ¥ I B

2. % @R

3. % R

4. % WR

Question Number : 30 Question Id : 25498925357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following input devices is used in banks to process cheques?
Options :



1. ¥ OMR
2. % OCR
3. ¥ MICR

4. * Barcode reader

Question Number : 30 Question Id : 25498925357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P PI TIY B & [T Il # RafaRad # § ford 37qe fearsy o1 Iudi foar o 82
Options :

1. ¥ OMR

2. % OCR

3. ¥ MICR

4. % IRHIS ST

Question Number : 31 Question Id : 2549896225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is an E-Commerce?

Options :

1. #* Buying and selling international goods

2. % Buying and selling products and services over the internet
3. % Buying and selling products and services not found in stores

4. % Buying and selling products offline

Question Number : 31 Question Id : 2549896225 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3BT T 67
Options :

1. % SRS WA BT @G 3R forspT



2. ¢ 3T R AWM 3R st o1 wiig iR st
3. % W R T e o I iR giaershi ot @lie 3R fae!
4. % 3fTHATgT THH B TG 3R !

Question Number : 32 Question Id : 2549896522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does the term ‘web browser’ usually mean?
Options :

1. ¥ A software

2. % A search engine

3. % A system file

4. % An operating system

Question Number : 32 Question Id : 2549896522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
IR R 39 STIUR' Wea bl T 31e g2
Options :

1. ¢ T HIUEAWR

2. % U I goi

3. % T e BIsd

4. % T RIS Rew

Question Number : 33 Question Id : 2549896539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a search engine?
Options :

1. # Google

2. % Twitter



3. % Yahoo
4. % Bing

Question Number : 33 Question Id : 2549896539 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
P d 9 i 9 SoA g 2
Options :

1. # T

2. ¢ fgR

3. % g

4. % fqT

Question Number : 34 Question Id : 2549896704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following interface components of the outlook window displays the Calendar, Tasks, Contacts and Mail folder?
Options :

1. ¥ Reading Pane

2. ¥ Navigation pane

3. # Clip Pane

4. % To-Do-Bar

Question Number : 34 Question Id : 2549896704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Outlook TSI & Y ey Uch & T DI holex, TRAE, BIcde 3R T BIce bl UeiRid HRdl 82
Options :

1. % RfETom

2. ¢ AfETRE U

3. % fqau o=




4. % TZ AR

Question Number : 35 Question Id : 2549897370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I YHIY fadmed MS Word 2016 H FA9 # ¥ forg B 29 & Iuasy 72
Options :

1. % dem3c

2. % TS

3. % fSume

4. & BTG

Question Number : 35 Question Id : 2549897370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Cross reference option is available in which of the following menu tabs in MS Word 20167
Options :

1. # Layout

2. % Insert

3. % Design

4. ¥ References

Question Number : 36 Question Id : 2549897474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the key combination to open the Find dialog box in MS PowerPoint?
Options :

1. ¥ CTRL+F

2. % CTRL+H

3. % CTRL+R

4. % ALT+R



Question Number : 36 Question Id : 2549897474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS PowerPoint H, 'Find' STIQNT I WIa & foT8 ford Fooit TaIoI o1 TRANT faed SiTeT 82
Options :

1. ¥ CTRL+F

2. % CTRL+H

3. % CTRL+R

4. = ALT+R

Question Number : 37 Question Id : 2549897482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS PowerPoint & WIS XM TR H, all slides ST A1 ¢ & oTT Groit Aol I AT 62
Options :

1. # CTRL+A

2. ¥ CTRL+S

3. = ALT+A+S

4. = CTRL+A+B

Question Number : 37 Question Id : 2549897482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the key combination to view the all slides dialog box in the slide show view of MS PowerPoint?
Options :

1. ®# CTRL+A

2. ¥ CTRLA+S

3. % ALT+A+S

4. # CTRL+A+B

Question Number : 38 Question Id : 2549898038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a valid Surface chart category in MS Excel 20167

Options :

1. * Wireframe Contour

2. % 3-D surface

3. * Contour

4. ¥ Radar

Question Number : 38 Question Id : 2549898038 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel 2016 H Fuffad & § &9 I v 9y Wby a1 9uft =81 82
Options :

1. % gRRIbH BI<R

2. % 3.D THY

3. % BICR

4. ¥ TSR

Question Number : 39 Question Id : 2549898066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFafaad 7 @ o 1 faweu TeR T1é &t R A8 82
Options :

1. % WESIAC

2. % g e

3. % WRAK

4. ¢ IRAC

Question Number : 39 Question Id : 2549898066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT like a radar chart?
Options :

1. # Spider chart

2. % Web chart

3. % Star chart

4. ¥ Bar chart

Question Number : 40 Question Id : 2549898089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the information from an object is linked in MS-Word and stored in the source file, then information can be:
Options :

1. # deleted, if source file is modified

2. % remains same, if source file is modified

3. ¥ updated, if source file is modified

4. % copied, if source file is modified

Question Number : 40 Question Id : 2549898089 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gfe fpdt sifssiae Pt STERI MS-Word H i @1 713 8 3R Wid s H IURId 8, l STHeR! 6l
Options :

1. % T B & JMYT TR, g1 S Tobdl §

2. % Fid BIEd & IMYF R, IW A waAT©

3. ¢ FId BIsd & YMeE W, 3EHd (3Use) frar o gear g

4. % Id BI3d & G TR, Ufd 15 o Toball &

Question Number : 41 Question Id : 2549898096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel 2016 H Ffeiad & § fog g HATs Wi § U fadwed g2



Options :

1. % 3fcgTH=< (Alignment)
2. ¢ f&IUslS (Clipboard)

3. % WIC (Font)

4. % L3 (Styles)

Question Number : 41 Question Id : 2549898096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following "Home" command groups contains the Paste option in MS Excel 2016?
Options :

1. % Alignment

2. % Clipboard

3. % Font

4. % Styles

Question Number : 42 Question Id : 25498910472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
With respect to MS Word 2016, fill the (?) with suitable option.

Here is the path to make the first letter of each word a capital letter.

Home — ? — Change case — Capitalize Each Word
Options :

1. ¥ Font

2. % Paragraph

3. # Styles

4. % Editing

Question Number : 42 Question Id : 25498910472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
MS Word 2016 & JeH H (?) & I R I9gad fadwed W |

UET U Yoc b UYH 31&R P Hitied 3faR s & forg gy faar mar g |

Home — ? — Change case — Capitalize Each Word
Options :

1. ¥ Font

2. % Paragraph

3. % Styles

4. % Editing

Question Number : 43 Question Id : 25498910520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T Ms Word 2016 T UST WIS DI HREATSS H3A1 d18d & | IFd 3IhH & I IS H1 |

1. AISTS 3R $HaTe & degel &I FHRI BY, fhr OK R faa® H |

2. a&m%@@, Size W ot B | §T‘~4—5Id"| fﬁ[ﬁ More Paper Sizes DT I D1 |
3. Page Sempmavmmml

4. SiRgHc &1 g8 HIHR 95 [GaT ST

Options :

1.42,3,1,4

2.% 2,1,3,4

3.9 2,3,4,1

4. % 2,41,3

Question Number : 43 Question Id : 25498910520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ravi wants to customise the page size in MS Word 2016. Below mentioned are the steps to do so. Arrange the steps in the proper sequence.

1. Adjust the values for Width and Height, then click OK.
2. From the Layout tab, click Size. Select More Paper Sizes from the drop-down menu.



3. The Page Setup dialog box will appear.
4. The page size of the document will be changed.

Options :

1.92,3,1,4
2.%2.1,3,4
3.% 2,3,4,1
4. % 2.4,1,3

Question Number : 44 Question Id : 25498910585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FEfTEd & ¥ D1 Ms Word H TRTITH $8¢ &1 U {1 UBR 52
Options :

1. ¥ du gsC

2. % WEC g8C

3. % dlgTgsc

4. % ZAEST

Question Number : 44 Question Id : 25498910585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a valid category of paragraph indent in MS Word?
Options :

1. ¥ Left Indent

2. #* Point Indent

3. * Line Indent

4. % Inch Indent

Question Number : 45 Question Id : 25498910629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Chossing which of the following options from the Line and Paragraph Spacing drop-down option form the Paragraph command, will provide



double space into selected part of the document.
Options :
1. % 0.5
2.% 1.0
3. % 0.25
4.9 2.0

Question Number : 45 Question Id : 25498910629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 & S0 T ¢CRE & T4 A8 WRAT &R 1 87
Options :

1. % 0.5

2.% 1.0

3. % 0.25

4.9 2.0

Question Number : 46 Question Id : 25498910692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What are the parameters present in the find tab from editing group in MS Word 2016?
Options :

1. % Select object, find

2. % Navigation, advanced find

3. ¥ Find, advanced find, Go To

4. % Select object, select pane

Question Number : 46 Question Id : 25498910692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 ¥, TS U & B12S ¢d H &F ¥ HHGUS (RTHIeH) IURYd BId 82

Options :




1. ® Select object (ATIde eolde), find (BIE3)
2. % Navigation (ATGTIRM), advanced find (TSATES BIR3)

3. ¢ Find (P158), advanced find (USdIES BIES), Go To (1 T)
4. % Sclect object (Adide HT&alde), select pane (I aT-T)

Question Number : 47 Question Id : 25498911465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From the below mentioned options, identify the checkbox option under AutoCorrect tab which is NOT in Excel.
Options :

1. # Capitalize first letter of sentences

2. # (apitalize names of days

3. ¥ Capitalize first letter of table cells

4. # Correct accidental use of Caps Lock

Question Number : 47 Question Id : 25498911465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fau Tu et & A, AutoCorrect (3HTeIhaT) T8 P d8d AP aIdy fdbed B UG B Sl MS Excel H AT &

Options :

1. # Capitalize first letter of sentences
2. % Capitalize names of days
3. ¥ Capitalize first letter of table cells

4. % Correct accidental use of Caps Lock

Question Number : 48 Question Id : 25498913308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

THUY-TS (MS-Word) & e gaic fig (Bullet Points) SIigA o forg Fafeiad & § forg widare &1 I fovar oirar g2
Options :

1. ¢ Ctrl + Shift + L



2. % Ctrl+ Alt+R
3. ® Ctrl + SHIFT
4. % Ctrl+ L

Question Number : 48 Question Id : 25498913308 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following shortcuts is used to add a bullet point to the text in MS-Word?
Options :

1. ¥ Ctrl + Shift + L

2. % Ctrl + Alt+R

3. # Ctrl + SHIFT

4, % Cul+L

Question Number : 49 Question Id : 25498913314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

STNTGAl gRISCI TS A MBI S ® AW Iaaifad U 9 ¢ad ®I faxgd iR dférd & </ |
Options :

1. % WP IS

2. % ThaRM

3. % Oieyd

4. SIIHSD I

Question Number : 49 Question Id : 25498913314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A will automatically expand and shrink the table as user adds or removes data.
Options :

1. % static range

2. * function



3. ®* module

4. ¥ dynamic range

Question Number : 50 Question Id : 25498918951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S 3T MS Word H o<t fafRrs g o1 g&He R ST 918 d &, a HIdIS Qede gand|
Options :

1. % CTRL+H

2. % CTRL+D

3. ¥ CTRL+G

4. % CTRL+C

Question Number : 50 Question Id : 25498918951 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When you want go to a specific page or bookmark in MS Word, press keyboard shortcut.
Options :

1. # CTRL+H

2. % CTRL+D

3. ¥ CTRL+G

4. % CTRL+C

Question Number : 51 Question Id : 25498932151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Foafafed & 3 o @ difsal HI9pi=iT ot T Sl 81 82
Options :

1. % TE GrodR

2. ¢ SHBRT A BT

3. % qHY Dl HH



4. % Rreq o fawadar

Question Number : 51 Question Id : 25498932151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a limitation of video conferencing?
Options :

1. % Costly hardware

2. ¥ Information sharing

3. # Time constraint

4. % System failure

Question Number : 52 Question Id : 25498934465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an open-source royalty-free media file format that has been optimized for the Web?
Options :

1. ¥ WebM

2. % WebC

3. % MP3

4. % MP4

Question Number : 52 Question Id : 25498934465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fFafefed # 9 o 91 e SNU--91 Aaec] 1 HifSa Brsd RN & TR de o g SHifewrsst (srgepferd) fvar mar g2
Options :

1. ¥ WebM

2. % WebC

3. % MP3

4. % MP4



READING COMPREHENSION

Section Id : 2549896805
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896846
Question Shuffling Allowed : Yes

Question Id : 25498921061 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
Read the given passage and answer the questions that follow.

Akbar and Birbal

As a boy, Mahesh Das had once met Emperor Akbar. Akbar had been pleased with him and had given him a ring. While giving the ring, he had
said to the young man, “If you want to be a part of my royal court, come to meet me with this ring and I will recognise you immediately.” Years
passed and one day Mahesh again went to see the king.

When he reached the palace gates, the guard stopped him. Mahesh showed the guard Akbar’s ring. The guard was greedy. He said, “I will let you
meet the king only if you give me half of what the Emperor gives you.” Mahesh agreed.

Once inside the palace, Mahesh was taken to Akbar. He showed the Emperor his ring. Akbar smiled and said, “What can I do for you?”
Mabhesh said, “Jahanpanah, punish me with a hundred lashes.”

“What!” Akbar was shocked. “But why?” he asked.

“Jahanpanah, you promised to give me whatever I asked for.”

So Akbar ordered, “A hundred lashes for him.”



Mahesh suffered a few lashes. He didn’t cry. Then he said, “Stop! Jahanpanah, I promised your guard that I will give him half of whatever you
gave me. Please, give him fifty lashes too.” Akbar burst out laughing. He understood how cleverly Mahesh had told him about the greedy guard.

The guard was punished and Akbar told Mahesh, “You are truly brave. From now on, we shall call you Birbal, the Wise. You will stay with me as
my minister.”

In due course of time, Birbal became famous as one of Emperor Akbar’s ‘Navratnas’.
Sub questions

Question Number : 53 Question Id : 25498921062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Emperor Akbar gave the young boy, Mahesh Das, a ring because:
Options :

1. # he wanted to reward the boy for his bravery

2. % it would help him to immediately find a job

3. # he thought the boy needed some help

4. ¥ he was pleased with the boy

Question Number : 54 Question Id : 25498921063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Emperor’s guard was:

Options :

1. % loyal

2. % wise

3. ¥ greedy

4. % poor

Question Number : 55 Question Id : 25498921064 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Why did Mahesh ask for a hundred lashes?
Options :



1. ¥ He wanted the Emperor to know about the guard’s nature.
2. % He wanted to shock Emperor Akbar.
3. # He wanted to make the Emperor laugh.

4. % He wanted to become one of Akbar’s ‘Navratnas’.

Question Number : 56 Question Id : 25498921065 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Akbar had promised Mahesh that he will give him:
Options :

1. % acostly ring

2. % whatever he asked for

3. # the post of his minister

4. % a hundred lashes

Question Number : 57 Question Id : 25498921066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is NOT true?

Options :

1. ¥ Mahesh was given a hundred lashes for being greedy.

2. % The young boy Mahesh was given the name Birbal, the Wise, by Emperor Akbar.

3. ¥ Mahesh took the ring with him to the palace as it would help the emperor recognise him.

4. % Mahesh promised to share half of whatever he got from the Emperor with the guard.

Question Id : 25498921061 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498921062 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SIGRITE 3(heR - Yl TS b HeW & bl Ueh 3TJ1 &I Hifep:

Options :

|. % g TS Dl IYDI F8IGY o (o1 YD d BT dlgd U
2. % Ug I R B @loH B JGg B |

3. % I Ul foh TSd B! $& HGG B oie’d g |

4./ I8 TSPH U U U

Question Number : 54 Question Id : 25498921063 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
JTMHIMS Tl

Options :

1. % fFgaE

2. % gfgHM

3. ¢ Qe

4. % T

Question Number : 55 Question Id : 25498921064 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR A T Bl T AR

Options :

1. ¢ 98 I18aT U1 f 1e2Ie &1 S & WHId & IR § uar I |
2. ¥ Jg JIGRIE 3B DI FcdH] o1 argdT UT|

3. % Jg JIGRIE ! g1 A8l Tl

4. % g PR o FoRAl § H Th 1 d1gdT |

Question Number : 56 Question Id : 25498921065 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3feheR - He W I aral fobar o7 foh a8 39 Al
Options :

1. * TP W $f et

2. ¢ Wi g Ui g a8

3. % Il HAl UG

4. % QDS

Question Number : 57 Question Id : 25498921066 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ HRY P AT 811 & HRUT A Hlsl bt Toll fireh ot

2. % g1 TSP HoX DI AIGRIE AMHaR GRI G SRad o A1 a1 77 o |
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QUANTITATIVE APTITUDE
Section Id : 2549896806
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896847
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 25498914301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L
Options :
1. W —14

2. % gl

3. &l



4 % 196

Question Number : 58 Question Id : 25498914301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L

Options :
| = -14

3.9 -1

4. % |,

Question Number : 59 Question Id : 25498928896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L
Options :
1. % le.

2.9 o,

3. % Ly

Question Number : 59 Question Id : 25498928896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

L
Options :

1. ¥ le

2.9 o,

3. % Ly

Question Number : 60 Question Id : 25498928962 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What value will come in place of question mark (?) in the following question?

21+39%x29+8.99="?
Options :

1.9 413

2. % 458

3. % 44

4, % 342

Question Number : 60 Question Id : 25498928962 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
faferiRad us & usrarae forg (2) & R OR 1 /1 STU

21+3.9x%x29+899="?
Options :
1.¥413
2. % 458



3. % 44
4. % 342

Question Number : 61 Question Id : 25498928966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

LaF.

Options :

1. % Lo
2. % |l
3. |l

4. % |g,

Question Number : 61 Question Id : 25498928966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ll
Options :

1. = le

2. % |

3. ¥ .

4. % |,

Question Number : 62 Question Id : 25498929465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A shopkeeper sells two watches for 308 each. On one, he gets 12% profit and on the other, he suffers 12% loss. His profit or loss per cent in the
entire transaction is:

Options :
1. ¥ e

3. % Ly

4. % |

Question Number : 62 Question Id : 25498929465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L)
Options :
1. ¢ .

2. % o

3. % |

4. % |,

Question Number : 63 Question Id : 25498929467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L

Options :
1. * 1024
2.9 1025
3. % —1024



4. % —1023

Question Number : 63 Question Id : 25498929467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L.
Options :
1. # 1024
2.9 1025
3. % —1024
4. % —1023

GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549896807
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896848
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498912860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Study the following series of elements (letter-number-symbol) and answer the question that follows. Every two-digit number (given in brackets) is
to be treated as a single number.



2*856B9SQ3E17RD4£(13)U@K (18) A (14) P

If each of the letters in the above series of elements 1s given a value equivalent to its serial number in the English alphabet, what will be the
difference between the sum of the consonants and the sum of the vowels used in the series?

Options :
1. % 27
2.9 4]
3. % 82
4. % 109

Question Number : 64 Question Id : 25498912860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

sﬂqirr%rqwéﬁ%muﬁ(awﬁw-mﬁﬁqﬁr@ammmaﬁWﬁ&ﬁamﬁwﬁﬁﬂéﬁwmw
ST |
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3R TR & AT & o7 3R o1 B2

Options :

1. % 27

2.+ 41

3. % 82

4. % 109

Question Number : 65 Question Id : 25498912872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find out how many such pairs of letters are there in the given word each of which has as many letters between them in the word as in the English
alphabet.

COUNTERACT



Options :
1. #* Nil
2. % One
3. ¥ Two
4. % Three

Question Number : 65 Question Id : 25498912872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&0 0 <1eg H 31&RT & TR fbe oe &, orTH 9 U & dld I 81 31&R & fora sl qufdra & S o &

COUNTERACT
Options :

1. % Y

2. % U

3./ 3

4. % o

Question Number : 66 Question Id : 25498918985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following pair, find two words related to the words already given — one word for each of two related pairs.
I : Increase :: Descend : 11

L. (1) Grow (2) Decrease (3) Rise (4) Price

II. (A) Reduce (B) Down (C) Ascend (D) Mountain
Options :

1. % 1C

2.9 2C

3. % 3A

4. % 4B

Question Number : 66 Question Id : 25498918985 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

frafefad gm o, ugd 9 fau 7T wreal A Hefid &) Weg il - & Haifetrd gt # J Udsh o ol Uep Wsg |
I:de-l:: 3dIR : 11

1. (1) I (2) 91 (3) S (4) oA

IL (A) BH B (B) 7 (C) TETs (D) UBTS
Options :

1. % 1C

2.¢2C

3. % 3A

4. % 4B

Question Number : 67 Question Id : 25498919814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In a certain code language, if

‘P@Q’ means ‘P is the mother of Q’;
‘P$Q’ means ‘P is the husband of Q’;
‘P#Q’ means ‘P is the sister of Q’;
‘P*Q’ means ‘P is the son of Q’,

then which of the following indicates the relationship ‘R is daughter of T°?
Options :

1. ¥ T@B#F*R

2. * T@B#R*F

3. % R#F*B@T

4. ¥ R#F*BST

Question Number : 67 Question Id : 25498919814 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e fAf¥d e yw H afe



P@Q BTN QB AP B;
P$Q HT 3 QBT UI P B
p#Q’ T 31 «Q BT I P B,
P*Q BT AL QB TAP Q.

frgfeiad fora <o & 98 ua1 9adi & fb T & R B2
Options :

1. ¥ T@B#F*R

2. ¥ T@B#R*F

3. ¥ R#F*B@T

4. ¥ R#F*BST

Question Number : 68 Question Id : 25498920154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the one that is different.
Options :

1. % Taka

2. % Tugrik (MNT)

3. % Yen

4. % Amman

Question Number : 68 Question Id : 25498920154 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IR g U MU § ford ¥ fi7 forddt e O U O § 3R T SR 8| 3R Xeg 1 Ugd Y|
Options :

1. ¥ C[h]

2. % R (TATS)

3. % T

4.« HIT




Question Number : 69 Question Id : 25498927887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is related to the first word.

Skirmish : War :: Disease : ?
Options :

1. * Medicine

2. * Patients

3. ¥ Epidemic

4. % Infection

Question Number : 69 Question Id : 25498927887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ugd &l Ueal & o Bls Yoy g1 39 Tg! fahed BT T B3 forgehT IR Xsg A 391 81 Ay 5
Hzﬂs:g&’::aﬁﬂﬁ:?

Options :

1. % gdlg

2. % IR

3. ¥ HEHRL

4. % HepHUT

GENERAL AWARENESS
Section Id : 2549896808
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 6



Number of Questions to be attempted : 6

Section Marks : 6

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896849
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549899818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the columns

Persons Events

A. MacDonald 1. Introduced the Doctrine of Lapse in India
B. Linlithgow 2. Created the Communal Award

C. Dalhousie 3. Proposed the August Offer

D. Chelmsford 4. Introduced the dyarchy system in India
Options :

1. % A-3,B-2,C-1,D4
2. % A3,B-2,C-4,D-1
3.+ A-2,B-3,C-1,D-4
4. % A2 B-3,C-4,D-1

Question Number : 70 Question Id : 2549899818 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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B. ferferamm 2. giveiiie sifdf-ofa &1 famor fean
C. SagIS 3. 3T TR T U fear

D. IRThIS 4. YRA Y TGRIR a1 &t L3 Dl
Options :

1. ¥ A-3,B-2,C-1,D-4
2. % A-3,B-2,C-4,D-1
3. ¥ A-2,B-3,C-1,D-4
4. ® A-2,B-3,C-4,D-1

Question Number : 71 Question Id : 25498912531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is a chiefly enclosed glass container that is used for growing and displaying plants.
Options :
1. % Terrarium
2. % Aquarium
3. # Shark tank
4. % Column

Question Number : 71 Question Id : 25498912531 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

el D1 T 3R 378 UaiRid PR & fod SUANT fordl ST aTet =M= 3 Sl Bl fopy A8 J 171 el 82
Options :

1. ¢ RiRaH

2. % UebigH

3. % YD Ch

4. % DlaH

Question Number : 72 Question Id : 25498912760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which team won Asia Cup (Cricket) Trophy 20127
Options :

1. # Bangladesh

2. % Sri Lanka

3. % India

4. ¥ Pakistan

Question Number : 72 Question Id : 25498912760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fa g = TRr U (fhare) gt 2012 Sl
Options :

1. % Qe

2. % gicihl

3. % HRd

4. Ul

Question Number : 73 Question Id : 25498932103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the columns.

Persons Well known as

A. Anna Hazare 1. Lawyer

B. Deepak Parekh 2. Banker

C. GVK Reddy 3. Gandhian and social activist
D. Harish Salve 4. Industrialist

Options :

1. ¥ A-1,B-2, C-4,D-3
2. % A-1,B-4, C-2, D-3
3.+ A-3,B-2, C-4, D-1



4. % A-3,B-4,C-2,D-1

Question Number : 73 Question Id : 25498932103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

{4 1 gAferd BifeTe:

TR o fore 3 ufRtrg ©

A. 3T BOR 1. gPpId

B. AU URE 2. dBR

C. Sfidid YS! 3. Miefardl 3R AT Hriddl

D. g9 Aled 4. AU

Options :

1. % A-1,B-2,C-4,D-3
2. % A-1,B-4,C-2,D-3
3. ¥ A-3,B-2,C-4,D-1
4. % A-3,B-4,C-2,D-1

Question Number : 74 Question Id : 25498932501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Indian Institute of Pulse Research is located in:
Options :

1. ¥ Allahabad

2. ¥ Kanpur

3. ¥ Faizabad

4. % Lucknow

Question Number : 74 Question Id : 25498932501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



YR Gae ST SR Hgl Rud 82
Options :

1. # gdlgldiq

2. ¥ HHEAR

3. % HoEG

4. % qG1H

Question Number : 75 Question Id : 25498932586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An accused of an offence CANNOT be compelled to be a witness against himself. Which article of the Constitution of India provides for this?
Options :

1. ¥ Article 20 (3)

2. % Article 21 (1)

3. % Article 22 (2)

4. % Article 74

Question Number : 75 Question Id : 25498932586 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ 3TR5G 20(3)

2. % 3G 21(1)

3. % 3{Jw9G 22(2)

4. % 3TRG 74

English Mock

Group Number : 2



Group Id : 2549894327

Group Maximum Duration : 5

Group Minimum Duration : 5

Show Attended Group? : No

Edit Attended Group? : No

Break time : 1

Mandatory Break time : Yes

Group Marks : 0

Is this Group for Examiner? : No

Examiner permission : Cant View

Show Progress Bar? : No
English Mock

Section Id : 2549896809

Section Number : 1

Section type : Typing Test

Mandatory or Optional : Mandatory

Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 2549896850

Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498940809 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.

Restricted/ Unrestricted : Unrestricted



Paragraph Display : Yes

Keyboard Layout : Inscript

Show Details Panel : Yes

Show Error Count : Yes

Highlight Correct or Incorrect Words : Yes
Allow Back Space : Yes

Show Back Space Count : Yes

English Actual

Group Number : 3
Group Id : 2549894328
Group Maximum Duration : 15
Group Minimum Duration : 15
Show Attended Group? : No
Edit Attended Group? : No
Break time : 3
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Examiner permission : Cant View
Show Progress Bar? : No

English Typing Test
Section Id : 2549896810
Section Number : 1
Section type : Typing Test
Mandatory or Optional : Mandatory
Number of Questions : 1
Number of Questions to be attempted : 1
Section Marks : 0



Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549896851
Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498937881 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

A lack of sleep at night can irritate you the next day. And over time, thinking about sleep can mess up more than just your morning
mood. Studies show getting quality sleep on a regular basis can help improve all sorts of issues, from your blood sugar to your workouts.
Here is why you should give your body the sleep it needs. Sharper Brain. You will probably have trouble holding onto and recalling
details when you are running low on sleep. That is because sleep plays a big part in both learning and memory. Without enough sleep, it is
tough to focus and take in new information. Your brain also does not have enough time to properly store memories so you can recollect
them later. Sleep lets your brain catch up so you are ready for the next task. Mood Boost. Another thing that your brain does while you
sleep is process your emotions. Your mind needs this time to recognize and react the right way. When you cut that short, you tend to have
more negative emotional reactions and fewer positive ones. Chronic lack of sleep can also increase the chance of having a mood disorder.
One large study showed that when you have insomnia, you are five times more likely to develop depression and your odds of anxiety or
panic disorders are even greater. Refreshing sleep helps you hit the reset button on a bad day, improve your outlook on life, and be better
person to meet challenges. Healthier Heart. When you sleep your blood pressure goes down and gives your heart and blood vessels a bit
of a rest. The less sleep you get, the longer your blood pressure stays up during a hour cycle. High blood pressure can lead to heart
disease, including stroke. Athletic Achievement. If your sport requires quick bursts of energy like wrestling or weightlifting, sleep loss
may not affect you as much as with durable sports like running, swimming, and biking. But you are not doing yourself any favors.
Besides robbing you of energy and time for muscle repair and lack of sleep reduces your motivation which is what gets you to the finish
line. You will face a harder mental and physical challenge and see slower reaction times. Steadier Blood Sugar. Not enough time in this
deepest stage means you do nor get that break to allow a reset like leaving the volume turned up. Your body will have a harder time
responding to your cells needs and blood sugar levels. Allow yourself to reach and remain in this deep sleep, and you are less likely to get
type two diabetes. Sleep needs vary, but on average, regularly sleeping more than Nine hours a night may do more harm than good.
Research found that people who slept longer had more calcium buildup in their heart arteries and less flexible leg arteries, too. Your best
bet is to aim for minimum hours of sleep each night for peak benefits.
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